
৩৩ তম             -      ম        

১। 

                    ? 

(ক) 

         

(খ) 

        

(গ) 

        

(ঘ) 

          

     ঘ।           

২। 

                              ? 

(ক) 

         ক          ও         ক          

(খ) 

          ক          ও         ক          

(গ) 

        ক          ও           ক          

(ঘ) 

        ক          ও        ক          

     খ।           ক          ও         ক          

৩। 

            ম     – 

(ক) 

 গ       ট 
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(খ) 

     ক   

(গ) 

       ঘ   

(ঘ) 

          গ  

     ক।  গ       ট 

৪। 

'        হ       হ          --          

(ক) 

ক          

(খ) 

           

(গ) 

ক              

(ঘ) 

             গ   

     গ। ক              

৫। 

               ? 

(ক) 

                  

(খ) 

                   

(গ) 

                   

(ঘ) 
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     ক।                   

৬। 

           – 

(ক) 

       

(খ) 

      

(গ) 

      গ   

(ঘ) 

       

     খ।       

৭। 

  হ          ত    

(ক) 

       

(খ) 

     

(গ) 

       

(ঘ) 

       

     গ।        

৮। 

Excise duty                

(ক) 

              

(খ) 
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       ক  

(গ) 

  গ       ক 

(ঘ) 

       ক      

     গ।   গ       ক 

৯। 

              ? 

(ক) 

                         

(খ) 

                     ট         

(গ) 

                       ক        

(ঘ) 

        গ    ক                         

     ক।                          

১০। 

        ম        – 

(ক) 

   ক 

(খ) 

       

(গ) 

      

(ঘ) 

       

     গ।       
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১১। 

              ? 

(ক) 

                         

(খ) 

                     ট         

(গ) 

                       ক        

(ঘ) 

        গ    ক                         

     ক।                          

১২। 

           

(ক) 

         

(খ) 

         

(গ) 

         

(ঘ) 

         

     গ।          

১৩। 

       '     ' 

(ক) 

; 

(খ) 

: 

(গ) 
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= 

(ঘ) 

" 

     খ। : 

১৪। 

           ত হ  – 

(ক) 

১৯২৩ 

(খ) 

১৯২৪ 

(গ) 

১৯২৫ 

(ঘ) 

১৯২৭ 

     ক। ১৯২৩ 

১৫। 

                         ত       ত? 

(ক) 

      

(খ) 

            

(গ) 

        

(ঘ) 

          

     ক।       

১৬। 

               

(ক) 
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(খ) 

    গ   

(গ) 

ঘ        ক 

(ঘ) 

ক ট       

     ক।          

১৭। 

   ম                                  ? 

(ক) 

      

(খ) 

          

(গ) 

        

(ঘ) 

ক        

     ঘ। ক        

১৮। 

         – 

(ক) 

      ক  

(খ) 

      ক  

(গ) 

      ক  

(ঘ) 
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      ক  

     ক।       ক  

১৯। 

  ত                                

(ক) 

T S Elliot 

(খ) 

Kits 

(গ) 

W B Yeats 

(ঘ) 

Ejra Pound 

     গ। W B Yeats 

২০। 

The Origin and Development of Bengali Language               ? 

(ক) 

                  

(খ) 

 .        ক                

(গ) 

            

(ঘ) 

                 

     খ।  .        ক                

২১। 

Noureen will discuss the issue with Nasir ___ phone 

(ক) 

in 

(খ) 
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over 

(গ) 

by 

(ঘ) 

on 

     খ। over 

২২। 

Some writer sink __ oblivion in course of time 

(ক) 

under 

(খ) 

from 

(গ) 

on 

(ঘ) 

into 

     ঘ। into 

২৩। 

'Call to mind' means 

(ক) 

fantasize 

(খ) 

attend 

(গ) 

remember 

(ঘ) 

request 

     গ। remember 

২৪। 

'Pass away' means 
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(ক) 

die 

(খ) 

disappear 

(গ) 

erase 

(ঘ) 

fall 

     ক। die 

২৫। 

Pick the word that is synonymous with 'Authoritarian'. 

(ক) 

senior 

(খ) 

autocratic 

(গ) 

elderly 

(ঘ) 

potential 

     খ। autocratic 

২৬। 

The word 'Permissive' implies 

(ক) 

law-abiding 

(খ) 

liberal 

(গ) 

umble 

(ঘ) 

submissive 
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     খ। liberal 

২৭। 

Each of the sons followed __ father's trade. 

(ক) 

his 

(খ) 

their 

(গ) 

her 

(ঘ) 

whose 

     ক। his 

২৮। 

Subject – verb agreement refers to – 

(ক) 

person only 

(খ) 

number and person 

(গ) 

number, person and gender 

(ঘ) 

number only 

     খ। number and person 

২৯। 

The error in the sentence, ‘One of the recommendation made by the committee was 
accepted by the authorities’ is – 

(ক) 

was 

(খ) 

recommendation 
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(গ) 

accepted by 

(ঘ) 

committee 

     খ। recommendation 

৩০। 

‘The French’ refers to – 

(ক) 

the French Language 

(খ) 

the French manners 

(গ) 

the French society 

(ঘ) 

The French people 

     ঘ। The French people 

৩১। 

If a person cannot stop taking drugs, he is – 

(ক) 

attached to them 

(খ) 

addicted to them 

(গ) 

committed to them 

(ঘ) 

devoted to them 

     খ। addicted to them 

৩২। 

The word ‘Officialese’ means – 

(ক) 

https://3hourbattle.com/sq/2940
https://3hourbattle.com/sq/2941
https://3hourbattle.com/sq/2942


plural number of official 

(খ) 

plural number of offices 

(গ) 

language used in offices 

(ঘ) 

vague expressions 

     গ। language used in offices 

৩৩। 

‘Succumb’ means – 

(ক) 

submit 

(খ) 

win 

(গ) 

achieve 

(ঘ) 

conqur 

     ক। submit 

৩৪। 

We look forward ____ a response from you. 

(ক) 

to receiving 

(খ) 

to receive 

(গ) 

in receiving 

(ঘ) 

for receiving 

     ক। to receiving 
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৩৫। 

If a part of a speech or writing breaks the theme, it is called – 

(ক) 

exaggeration 

(খ) 

digression 

(গ) 

anti-climax 

(ঘ) 

pomposity 

     খ। digression 

৩৬। 

The expression ‘take into account’ means 

(ক) 

count numbers 

(খ) 

think seriously 

(গ) 

consider 

(ঘ) 

assess 

     গ। consider 

৩৭। 

' ত    ত     ত        ' –                   হ  ? 

(ক) 

The authorities gave reins to him 

(খ) 

The authorities took him to book 

(গ) 

The authorities criticised him 
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(ঘ) 

The authorities took him to task 

     ঘ। The authorities took him to task 

৩৮। 

Such claim needs to be tested empirically’ means – 

(ক) 

The test should be based on experience 

(খ) 

The test should be based on idea 

(গ) 

The test should be based on assumption 

(ঘ) 

The test should be based on calculation 

     ক। The test should be based on experience 

৩৯। 

The idiom ‘put up with’ means – 

(ক) 

stay together 

(খ) 

tolerate 

(গ) 

keep trust 

(ঘ) 

protect 

     খ। tolerate 

৪০। 

In many ways, riding a bicycle is similar to – 

(ক) 

the driving of a car 

(খ) 
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when one drives a car 

(গ) 

when we drive a car 

(ঘ) 

driving a car 

     ঘ। driving a car 

৪১। 

                                 ত হ     – 

(ক) 

২০ 

(খ) 

১৭ 

(গ) 

১৬ 

(ঘ) 

১৯ 

     খ। ১৭ 

৪২। 

                    ম – 

(ক) 

          

(খ) 

            

(গ) 

     

(ঘ) 

ক         

     খ।             

৪৩। 
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ম            ত – 

(ক) 

         

(খ) 

ক      

(গ) 

         

(ঘ) 

      

     গ।          

৪৪। 

   ম          ত            

(ক) 

      

(খ) 

     খ    

(গ) 

      

(ঘ) 

ক       

     ঘ। ক       

৪৫। 

                           ম             – 

(ক) 

      

(খ) 

  ট 

(গ) 

https://3hourbattle.com/sq/2953
https://3hourbattle.com/sq/2954
https://3hourbattle.com/sq/2955


         ক 

(ঘ) 

        গ       

     ঘ।         গ       

৪৬। 

        হ       ত – 

(ক) 

গ       

(খ) 

       

(গ) 

ক                            

(ঘ) 

        

     গ। ক                            

৪৭। 

                           ত – 

(ক) 

                    

(খ) 

    ক          

(গ) 

  ক             

(ঘ) 

 ট এ          

     ক।                     

৪৮। 

               , ২০১২      ত হ  – 
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(ক) 

                         

(খ) 

                    

(গ) 

                      

(ঘ) 

                

     ক।                          

৪৯। 

             ত        – 

(ক) 

১৬         

(খ) 

৭        

(গ) 

১৭  এ    

(ঘ) 

২৬         

     ঘ। ২৬         

৫০। 

       ম       ম – 

(ক) 

    

(খ) 

ট ক  

(গ) 
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(ঘ) 

     

     ক।     

৫১। 

                 – 

(ক) 

৬ 

(খ) 

৭ 

(গ) 

৮ 

(ঘ) 

৯ 

     গ। ৮ 

৫২। 

             ম            ত – 

(ক) 

        এ    এ   এ     

(খ) 

               

(গ) 

              গ   ও      

(ঘ) 

                     

     গ।               গ   ও      

৫৩। 

                   – 

(ক) 
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  ক      

(খ) 

  ক  

(গ) 

  ক       

(ঘ) 

            গ  

     খ।   ক  

৫৪। 

          হ ম   ম                    ত – 

(ক) 

    

(খ) 

      

(গ) 

       ক 

(ঘ) 

     

     খ।       

৫৫। 

            তম     – 

(ক) 

          গ  

(খ) 

 ট    ক      গ  

(গ) 

          গ  

(ঘ) 
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         গ  

     গ।           গ  

৫৬। 

            তম    – 

(ক) 

            

(খ) 

       

(গ) 

ক        

(ঘ) 

  ক   

     ঘ।   ক   

৫৭। 

২০১৪                         ত হ  – 

(ক) 

        

(খ) 

      

(গ) 

    

(ঘ) 

         

     খ।       

৫৮। 

                       হ           ? 

(ক) 
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(খ) 

      

(গ) 

         

(ঘ) 

  ক  

     গ।          

৫৯। 

   ত       ত                                        – 

(ক) 

ও   এগ      

(খ) 

                   

(গ) 

             

(ঘ) 

 গ     

     ঘ।  গ     

৬০। 

                        ম          – 

(ক) 

৯ 

(খ) 

১১ 

(গ) 

১৫ 

(ঘ) 

২১ 
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     খ। ১১ 

৬১। 

                     

(ক) 

          

(খ) 

        

(গ) 

       

(ঘ) 

       

     খ।         

৬২। 

           হ  – 

(ক) 

 ক   

(খ) 

 ক    

(গ) 

  ক    

(ঘ) 

        

     ক।  ক   

৬৩। 

            হ     – 

(ক) 

     

(খ) 
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(গ) 

      

(ঘ) 

    

     গ।       

৬৪। 

                    – 

(ক) 

  ট ক    

(খ) 

     

(গ) 

        

(ঘ) 

  ক   ক গ    

        ক       ও         

৬৫। 

             হ  – 

(ক) 

১৯৬৫ 

(খ) 

১৯৫৯ 

(গ) 

১৯৬৯ 

(ঘ) 

১৯৮১ 

     গ। ১৯৬৯ 
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৬৬। 

MKS    ত ত          – 

(ক) 

      

(খ) 

    

(গ) 

       

(ঘ) 

 ক       

     ঘ।  ক       

৬৭। 

          ত         – 

(ক) 

     

(খ) 

     

(গ) 

     

(ঘ) 

     

     ঘ।      

৬৮। 

Altimeter   ? 

(ক) 

গ                ক        

(খ) 

           ক        
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(গ) 

           ক        

(ঘ) 

          ক        

     খ।            ক        

৬৯। 

 ম           – 

(ক) 

      

(খ) 

       

(গ) 

     

(ঘ) 

     

     ক।       

৭০। 

        ত  ম     ত     ত  – 

(ক) 

           

(খ) 

     

(গ) 

          

(ঘ) 

        

     খ।      

৭১। 
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                 তম       – 

(ক) 

এ          

(খ) 

    

(গ) 

         

(ঘ) 

     

     গ।          

৭২। 

         হ          – 

(ক) 

     

(খ) 

          

(গ) 

          

(ঘ) 

       

     খ।           

৭৩। 

               ত – 

(ক) 

D2O 

(খ) 

H2O 

(গ) 

HD2O2 
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(ঘ) 

2H2O2 

     ক। D2O 

৭৪। 

   হ                    ত     ত হ  – 

(ক) 

    

(খ) 

     

(গ) 

    

(ঘ) 

এ          

     গ।     

৭৫। 

      ত    ত           

(ক) 

     ও  ট  

(খ) 

     ও     

(গ) 

     ও      

(ঘ) 

     ও    ক  

     খ।      ও     

৭৬। 

   ম   ত       তম      ম   – 

(ক) 
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(খ) 

       

(গ) 

         

(ঘ) 

খ        

     ক।        

৭৭। 

        ত      ত   – 

(ক) 

        ক  

(খ) 

গ      ও 

(গ) 

  .      ট   

(ঘ) 

        

     গ।   .      ট   

৭৮। 

মহ     ত               – 

(ক) 

        

(খ) 

ট     

(গ) 

    

(ঘ) 
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     গ।     

৭৯। 

              মহ          – 

(ক) 

১৯৫৬ 

(খ) 

১৯৬৪ 

(গ) 

১৯৬৯ 

(ঘ) 

১৯৬১ 

     ঘ। ১৯৬১ 

৮০। 

      ম  ম        ত 

(ক) 

         

(খ) 

         

(গ) 

      

(ঘ) 

        

     খ।          

৮১। 

 ত                ত                       ২৪    ।                     ২১ 

               হ  ত   ত                             ত হ  ? 

(ক) 

৩০ 

(খ) 
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২৫ 

(গ) 

২৮ 

(ঘ) 

৩২ 

     ক। ৩০ 

৮২। 

(3√3×3√ 4)6= ত? 

(ক) 

12 

(খ) 

48 

(গ) 

36 

(ঘ) 

144 

     ঘ। 144 

৮৩। 

      ম                    ম       ২   : ম:    ;      ত    ২   : ম:    

।  ত             ত ? 

(ক) 

৮   :  : 

(খ) 

১০   :  : 

(গ) 

৪   :  : 

(ঘ) 

৬   :  : 

     খ। ১০   :  : 
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৮৪। 

m                 x     n           y হ                 ত? 

(ক) 

x+y/mn 

(খ) 

x+y/m+n 

(গ) 

mx+ny/m+n 

(ঘ) 

mx+ny/mn 

     গ। mx+ny/m+n 

৮৫। 

(a/b)x-3=(b/a)x-5 হ  ত   x    ম    ত? 

(ক) 

3 

(খ) 

8 

(গ) 

5 

(ঘ) 

4 

     ঘ। 4 

৮৬। 

3√3√a3= ত? 

(ক) 

a1/3 

(খ) 

1 

(গ) 
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a 

(ঘ) 

a3 

     ক। a1/3 

৮৭। 

                  ৫   : ম:× ৪  : ম:× ১.৫   : ম: হ   ৫৫   : ম:      , ৪৮   : ম:   

    ৩০   : ম:   ত                  ম     ত                  ? 

(ক) 

১৩২০  ট 

(খ) 

৩৬০০  ট 

(গ) 

৫২৪০  ট 

(ঘ) 

২৬৪০  ট 

     ঘ। ২৬৪০  ট 

৮৮। 

        A = {5,15,20,30}     B = {3,5,15,18,20} হ  ত                A ∩ B        

(ক) 

{3, 18, 30} 

(খ) 

{3, 5, 15, 18, 20, 30} 

(গ) 

{5, 15, 20} 

(ঘ) 

 ক   ট     

     গ। {5, 15, 20} 

৮৯। 

১,১,২,৩,৫,৮,১৩,২১,........       ১০ম       ত ? 
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(ক) 

৬৪ 

(খ) 

৩৪ 

(গ) 

৪৮ 

(ঘ) 

৫৫ 

     ঘ। ৫৫ 

৯০। 

4x×4x×4x×4x    ম    ত? 

(ক) 

16x 

(খ) 

44x
 

(গ) 

22x+2
 

(ঘ) 

28x
 

     ঘ। 28x
 

৯১। 

         হ  ৩৭৩৮৯৯                    । ৭১/২         ত             ১১/৪     

     ।              হ    ত? 

(ক) 

১৬২/৩ % 

(খ) 

১২১/২ % 

(গ) 

৮১/৩ % 
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(ঘ) 

১১১/৯ % 

     ক। ১৬২/৩ % 

৯২। 

             ( √5- √3)     ম  ? 

(ক) 

2/√3+√5 

(খ) 

1/√5+1/√3 

(গ) 

1/2(√5-√3) 

(ঘ) 

√2 

     ক। 2/√3+√5 

৯৩। 

৫    ত  ত   ম  ৫      ৫            ত      ।           ৭            ত ৭    

  ম     ত           ? 

(ক) 

২৫/৪৯ 

(খ) 

৫     

(গ) 

৪৯/২৫ 

(ঘ) 

৭     

     খ। ৫     

৯৪। 

36×23x-8=32 হ   x    ম    ত? 

(ক) 

https://3hourbattle.com/sq/3002
https://3hourbattle.com/sq/3003
https://3hourbattle.com/sq/3003
https://3hourbattle.com/sq/3004


2 

(খ) 

7/2 

(গ) 

3 

(ঘ) 

8/3 

     খ। 7/2 

৯৫। 

                            ম   ৩৫°   ৫৫°।                  ? 

(ক) 

      

(খ) 

        

(গ) 

   ক    

(ঘ) 

      ক    

     গ।    ক    

৯৬। 

(x-y, 3) = ( 0, x+2y) হ   (x,y) =  ত ? 

(ক) 

(1,1) 

(খ) 

(1, 3) 

(গ) 

(-1,-1) 

(ঘ) 

(-3, 1) 

https://3hourbattle.com/sq/3005
https://3hourbattle.com/sq/3006


     ক। (1,1) 

৯৭। 

x/y          ত           y/x হ  ? 

(ক) 

2x2-y2/xy 

(খ) 

y2-x2/xy 

(গ) 

x2-y2/xy 

(ঘ) 

x2-2y2/xy 

     খ। y2-x2/xy 

৯৮। 

       ত            ত          ২/৩     ।            ম  ৪০  ম    হ   ত   

       ত ? 

(ক) 

৯৬  গ    ট   

(খ) 

৬০  গ    ট   

(গ) 

৭২  গ    ট   

(ঘ) 

৬৪  গ    ট   

     ক। ৯৬  গ    ট   

৯৯। 

৩   : ম:, ৪   : ম:   ৫   : ম:           ত                ত            ত       

হ  ।   ত                    ত হ   ? 

(ক) 

৭   :  : 

(খ) 

https://3hourbattle.com/sq/3007
https://3hourbattle.com/sq/3008
https://3hourbattle.com/sq/3008
https://3hourbattle.com/sq/3009
https://3hourbattle.com/sq/3009


৬.৫   :  : 

(গ) 

৭.৫   :  : 

(ঘ) 

৬   :  : 

     ঘ। ৬   :  : 

১০০। 

                         ৮      ম    ৯      ম ।                   ম   

                         ম   ত? 

(ক) 

১৮         

(খ) 

৩৬         

(গ) 

২৪         

(ঘ) 

১২        

     গ। ২৪         

 

https://3hourbattle.com/sq/3010
https://3hourbattle.com/sq/3010

